# International Journal of Analysis and Applications

## Hypersurfaces With a Common Geodesic Curve in 4D Euclidean space $\mathbb{E}^4$

Sahar H. Nazra\*

### Department of Mathematical Sciences, College of Applied Sciences, Umm Al-Qura University, KSA

#### \* Corresponding author: shnazra@uqu.edu.sa

Abstract. In this paper, we attain the problem of constructing hypersurfaces from a given geodesic curve in 4D Euclidean space  $\mathbb{E}^4$ . Using the Serret–Frenet frame of the given geodesic curve, we express the hypersurface as a linear combination of this frame and analyze the necessary and sufficient conditions for that curve to be geodesic. We illustrate this method by presenting some examples.

#### 1. Introduction

In differential geometry, geodesic curves representing in some sense the shortest distance (arc) amidst two points in a surface, or more in general in a Riemannian manifold [7–9]. From this explicitness we can immediately see that the geodesic among two points on a sphere is a great circle. But there are two arcs of a great circle amid two of their points, and only one of them gives the short distance, with the exclusion of the two points are the end points of a diameter. This model indicates that there may exist more than one geodesic among two points. Therefore, for example, the passage of a verticil orbiting about a star is the projection of a geodesic of the curved 4D space-time geometry about the star onto 3D space. Nowadays, numerous research results have concentrated on surfaces family having a common geodesic curve in a diversity of applications, such as the tent manufacturing, designing industry of shoes, cutting and painting path. In general, the goal of mainly works on geodesics is to define a family of surfaces with a given geodesic curve and express it as a linear combination of the Serret–Frenet frame (See for example [1, 2, 4, 5, 11, 12, 14, 16]).

However, there is little written works on differential geometry of parametric surface family in Euclidean, and non-Euclidean 4-spaces [3, 6, 10, 13, 15]. Thus, the current study hopes to serve such a need. In this paper, we consider the parametric representation of hypersurface family passing a given

Received: Dec. 12, 2022.

<sup>2010</sup> Mathematics Subject Classification. Primary 53A05, Secondary 22E15.

Key words and phrases. hypersurface; Serret-Frenet formulae; marching-scale functions.

isogeodesic curve, that is, both a geodesic and a parameter curve in  $\mathbb{E}^4$ . Then, we insert three types of the marching-scale functions, and give some examples for the purpose of clarity of our method.

#### 2. Preliminaries

In this section we list some formulas and conclusions for space curves, and surfaces in Euclidean 4-space  $\mathbb{E}^4$  which can be found in [7-9, 17]: A curve is smooth if it admits a tangent vector at whole point of the curve. In the following argumentations, all curves are assumed to be regular. Let  $\boldsymbol{\alpha} = \boldsymbol{\alpha}(s)$  be a unit speed curve in 4D Euclidean space  $\mathbb{E}^4$ . We set up  $\boldsymbol{\alpha}'(s) \neq 0$  for all  $s \in [0, L]$ ; since this would give us a straight line. In this paper,  $\boldsymbol{\alpha}'(s)$  indicate to the derivatives of  $\boldsymbol{\alpha}(s)$  with respect to arc-length parameter s. For whole point of  $\boldsymbol{\alpha}(s)$ , if the set  $\{\mathbf{t}(s), \mathbf{n}(s), \mathbf{b}_1(s), \mathbf{b}_2(s)\}$  is the Serret–Frenet frame along  $\boldsymbol{\alpha}(s)$ , then:

$$\begin{pmatrix} \mathbf{t}'(s) \\ \mathbf{n}'(s) \\ \mathbf{b}'_{1}(s) \\ \mathbf{b}'_{2}(s) \end{pmatrix} = \begin{pmatrix} 0 & \kappa_{1} & 0 & 0 \\ -\kappa_{1} & 0 & \kappa_{2} & 0 \\ 0 & \kappa_{2} & 0 & \kappa_{3} \\ 0 & -\kappa_{3} & 0 & 0 \end{pmatrix} \begin{pmatrix} \mathbf{t}(s) \\ \mathbf{n}(s) \\ \mathbf{b}_{1}(s) \\ \mathbf{b}_{2}(s) \end{pmatrix},$$
(2.1)

where **t**, **n**, **b**<sub>1</sub>, and **b**<sub>2</sub> are the tangent, the principal normal, the first binormal, and the second binormal vector fields;  $\kappa_i(s)$  (i = 1, 2, 3) are the ith curvature functions ( $\kappa_1, \kappa_2 > 0$ ) of the curve  $\alpha(s)$ . For any three vectors **x**, **y**,  $\mathbf{z} \in \mathbb{E}^4$ , the vectorial product is defined by

$$\mathbf{x} \wedge \mathbf{y} \wedge \mathbf{z} = \begin{vmatrix} \mathbf{e}_{1} & \mathbf{e}_{2} & \mathbf{e}_{3} & \mathbf{e}_{4} \\ a_{1} & a_{2} & a_{3} & a_{4} \\ b_{1} & b_{2} & b_{3} & b_{4} \\ c_{1} & c_{2} & c_{3} & c_{4} \end{vmatrix},$$
(2.2)

where  $\mathbf{e}_i$  (i = 1, 2, 3, 4) are the standard base vectors of  $\mathbb{E}^4$ .

**Theorem 2.1**. Let  $\alpha$ :  $I \mapsto \mathbb{E}^4$  be a unit-speed curve. Then the Serret-Frenet vectors of the curve are given by

$$\mathbf{t}(s) = \boldsymbol{\alpha}'(s), \ \mathbf{n}(s) = \frac{\boldsymbol{\alpha}''(s)}{\left\|\boldsymbol{\alpha}''(s)\right\|}, \ \mathbf{b}_2(s) = -\frac{\boldsymbol{\alpha}'(s) \wedge \boldsymbol{\alpha}''(s) \wedge \boldsymbol{\alpha}'''(s)}{\left\|\boldsymbol{\alpha}'(s) \wedge \boldsymbol{\alpha}''(s) \wedge \boldsymbol{\alpha}'''(s)\right\|}, \ \mathbf{b}_1(s) = \mathbf{b}_2(s) \wedge \mathbf{t}(s) \wedge \mathbf{n}(s).$$

**Theorem 2.2.** Let  $\alpha$ :  $I \mapsto \mathbb{E}^4$  be a unit-speed curve. Then the curvatures of the curve are given by:

$$\kappa_2(s) = \frac{\langle \mathbf{b}_1, \boldsymbol{\alpha}^{'''} \rangle}{\kappa_1}$$
, and  $\kappa_3(s) = \frac{\langle \mathbf{b}_2, \boldsymbol{\alpha}^{(4)} \rangle}{\kappa_1 \kappa_2}$ 

We indicate a surface M in  $\mathbb{E}^4$  by

$$M: \mathbf{P}(s, t, r) = (x_1(s, t, r), x_2(s, t, r), x_3(s, t, r), ) x_4(s, t, r), (s, t, r) \in D \subseteq \mathbb{R}^3.$$
(2.3)

If  $\mathbf{P}_j(s, t, r) = \frac{\partial P}{\partial j}$ , the normal vector field of *M* is defined as follows [12]

$$\mathbf{N}(s, t, r) = \mathbf{P}_s \wedge \mathbf{P}_t \wedge \mathbf{P}_r, \tag{2.4}$$

which is orthogonal to each of the vectors  $\mathbf{P}_s$ ,  $\mathbf{P}_t$ , and  $\mathbf{P}_r$ . Similar to the Euclidean 3-space  $\mathbb{E}^3$ , the following definition can be given:

**Definition 2.1** Let  $\alpha$ :  $l \mapsto \mathbb{E}^4$  be a unit-speed curve. Then the hyperplanes which correspond to the subspaces Sp{t,  $\mathbf{b}_1, \mathbf{b}_2$ }, Sp{t,  $\mathbf{n}, \mathbf{b}_1$ }, Sp{t,  $\mathbf{n}, \mathbf{b}_2$ }, and Sp{n,  $\mathbf{b}_1, \mathbf{b}_2$ }, respectively, are named the rectifying hyperplane, first osculating hyperplane, second osculating hyperplane, and normal hyperplane.

The projection of a hypersurface into 3-space generally leads to a 3-dimensional volume. If we fix whole of the three variables, one at a time, we obtain three distinguished families of 2-spaces in 4-space. The projections of these 2-surfaces into 3-space are surfaces in 3-space. Thus, they can be displayed by 3D rendering methods [12]. Take  $x_4 = 0$  subspace and assuming r =constant for example, then the surface is parametrized as

$$M: \mathbf{P}_{x_4}(s, t) = (x_1(s, t), x_2(s, t), x_3(s, t)), \quad (s, t) \in D \subseteq \mathbb{R}^2.$$
(2.5)

#### 3. Hypersurfaces with a common geodesic curve

In this section, we consider a new approach for constructing a hypersurface family with a common geodesic curve  $\alpha(s)$ ,  $0 \le s \le L$ , in which the hypersurface tangent plane is coincident with the rectifying hyperplane Sp{t,  $\mathbf{b}_1, \mathbf{b}_2$ }. Then, the construction of the surface over  $\alpha(s)$  is:

$$M: \mathbf{P}(s, t, r) = \alpha(s) + u(s, t, r)\mathbf{t}(s) + v(s, t, r)\mathbf{b}_{1}(s) + w(s, t, r)\mathbf{b}_{2}(s),$$
(3.1)

where u(s, t, r), v(s, t, r), and w(s, t, r) are all regular functions;  $0 \le t \le T$ ,  $0 \le r \le H$ . These functions are named the marching-scale functions. From now on, we shall often not write the parameters s, t, and r explicitly in the functions u(s, t, r) v(s, t, r), and w(s, t, r).

Our aim is to find necessary and sufficient conditions for which the given  $\alpha(s)$  is an iso-parametric and geodesic (*geodesic for short*) on the hypersurface  $\mathbf{P}(s, t, r)$ . The  $\mathbf{P}'s$  tangent vectors are:

$$\mathbf{P}_{s} = (1 + u_{s})\mathbf{t} + (u\kappa_{1} - v\kappa_{2})\mathbf{n} + (v_{s} - w)\mathbf{b}_{1} + (w_{s} + v\kappa_{3})\mathbf{b}_{2}, 
\mathbf{P}_{t} = u_{t}\mathbf{t} + v_{t}\mathbf{b}_{1} + w_{t}\mathbf{b}_{2}, 
\mathbf{P}_{r} = u_{r}\mathbf{t} + v_{r}\mathbf{b}_{1} + w_{r}\mathbf{b}_{2}.$$
(3.2)

The normal vector field is

$$\mathbf{N}(s,t,r) := \mathbf{P}_s \wedge \mathbf{P}_t \wedge \mathbf{P}_r = \eta_1 \mathbf{t}(s) + \eta_2 \mathbf{n}(s) + \eta_3 \mathbf{b}_1(s) + \eta_4 \mathbf{b}_2(s), \tag{3.3}$$

where

$$\eta_{1}(s,t,r) = \begin{vmatrix} 0 & v_{s} & w_{s} \\ 0 & v_{t} & w_{t} \\ 0 & v_{r} & w_{r} \end{vmatrix} = 0, \ \eta_{2}(s,t,r) = \begin{vmatrix} 1+u_{s} & v_{s} & w_{s} \\ u_{t} & v_{t} & w_{t} \\ u_{r} & v_{r} & w_{r} \end{vmatrix} ,$$

$$\eta_{3}(s,t,r) = \begin{vmatrix} 1+u_{s} & 0 & v_{s} \\ u_{t} & 0 & v_{t} \\ u_{r} & 0 & v_{r} \end{vmatrix} = 0, \ \eta_{4}(s,t,r) = \begin{vmatrix} 1+u_{s} & 0 & v_{s} \\ u_{t} & 0 & v_{t} \\ u_{r} & 0 & v_{r} \end{vmatrix} = 0.$$

Since the  $\alpha(s)$  is an iso-parametric curve on the hypersurface there exists  $t = t_0 \in [0, T]$ , and  $r = r_0 \in [0, H]$  such that  $\mathbf{P}(s, t_0, r_0) = \alpha(s)$ ; that is,

$$u(s, t_0, r_0) = v(s, t_0, r_0) = w(s, t_0, r_0) = 0, u_s(s, t_0, r_0) = v_s(s, t_0, r_0) = w_s(s, t_0, r_0) = 0.$$
(3.4)

Therefore, when  $t = t_0$ , and  $r = r_0$ —i.e., along the curve  $\alpha(s)$ —the hypersurface normal is

$$\mathbf{N}(s, t_0, r_0) = (v_t(s, t_0, r_0) w_r(s, t_0, r_0) - w_t(s, t_0, r_0) v_r(s, t_0, r_0)) \mathbf{n}(s).$$
(3.5)

Coincidence of the hypersurface normal **N** with the principal normal  $\mathbf{n}(s)$  identifies the curve as a geodesic curve.

Then, we can state the following theorem:

**Theorem 3.1**. The given spatial curve  $\alpha(s)$  is a geodesic curve on the hypersurface P(s, t, r) iff

$$\begin{array}{l} u(s, t_{0}, r_{0}) = v(s, t_{0}, r_{0}) = w(s, t_{0}, r_{0}) = 0, \\ u_{s}(s, t_{0}, r_{0}) = v_{s}(s, t_{0}, r_{0}) = w_{s}(s, t_{0}, r_{0}) = 0, \\ v_{t}(s, t_{0}, r_{0})w_{r}(s, t_{0}, r_{0}) - w_{t}(s, t_{0}, r_{0})v_{r}(s, t_{0}, r_{0}) \neq 0, \end{array} \right\}$$

$$\left. \left. \begin{array}{c} (3.6) \\ s \\ r < H \end{array} \right\}$$

where  $0 \le t \le T$ ,  $0 \le r \le H$ .

Evidently, Eqs. (3.6) is further elegant and simple for applications (Compare with [5], eqs. (9)). We call the set of hypersurfaces given by Eqs. (3.1) and satisfying Eqs. (3.6) a geodesic hypersurface family. For get better the conditions in Theorem 3.1, the marching-scale functions u(s, t, r) v(s, t, r), and w(s, t, r) can be formed into three the following types:

Type (a). Let

$$u(s, t, r) = l(s)U(t, r),$$
  

$$v(s, t, r) = m(s)V(t, r),$$
  

$$w(s, t, r) = n(s)W(t, r),$$
  
(3.7)

where U(t, r), V(t, r),  $W(t, r) \in C^1$ , and I(s), m(s), n(s) are not identically zero. Then,  $\alpha(s)$  being a geodesic curve on the hypersurface  $\mathbf{P}(s, t, r)$  iff

$$U(t_0, r_0) = V(t_0, r_0) = W(t_0, r_0) = 0,$$
  

$$(V_t W_r - W_t V_r) (t_0, r_0) \neq 0,$$
  

$$m(s) \neq 0, \text{ and } n(s) \neq 0; \ 0 \le t_0 \le T, \ 0 \le r \le H.$$

$$(3.8)$$

Type (b). Let

$$u(s, t, r) = l(s, t)U(r),$$
  

$$v(s, t, r) = m(s, t)V(r),$$
  

$$w(s, t, r) = n(s, t)W(r),$$
  
(3.9)

where U(t, r), V(t, r),  $W(t, r) \in C^1$ , and I(s), m(s), n(s) are not identically zero. Then,  $\alpha(s)$  being a geodesic curve on the hypersurface  $\mathbf{P}(s, t, r)$  iff

$$\left. \begin{array}{l} l(s,t_{0})U(r_{0}) = m(s,t_{0})V(r_{0}) = n(s,t_{0})W(r_{0}) = 0, \\ V(r_{0})m_{t}(s,t_{0})n(s,t_{0})\frac{dW(r_{0})}{dr} - W(r_{0})n_{t}(s,t_{0})m(s,t_{0})\frac{dV(r_{0})}{dr} \neq 0, \\ 0 \le t_{0} \le T, \quad 0 \le r \le H. \end{array} \right\}$$
(3.10)

Type (c). Let

$$u(s, t, r) = l(s, r)U(t),$$
  

$$v(s, t) = m(s, r)V(t),$$
  

$$w(s, t) = n(s, r)W(t),$$
  
(3.11)

where U(t), V(t),  $W(t) \in C^1$ , and I(s, r), m(s, r), n(s, r) are not identically zero. Hence,  $\alpha(s)$  being a geodesic curve on the hypersurface  $\mathbf{P}(s, t, r)$  iff

$$\left. \begin{array}{l} l(s, r_0)U(t_0) = m(s, r_0)V(t_0) = n(s, r_0)W(t_0) = 0, \\ m(s, r_0)\frac{dV(r_0)}{dt}n_r(s, r_0)W(t_0) - n(s, r_0)\frac{dW}{dt}m_r(s, t_0)V(t_0) \neq 0, \\ 0 \le t_0 \le T, \quad 0 \le r \le H. \end{array} \right\}$$

$$(3.12)$$

3.1. **Example.** Now, we are interesting with an example to emphasize the method.

**Example 3.1**. Let the curve  $\alpha(s)$  be

$$\boldsymbol{\alpha}(s) = \left(\frac{1}{2}\cos s, \frac{1}{2}\sin s, \frac{1}{2}s, \frac{1}{\sqrt{2}}s\right), \ 0 \le s \le 2\pi.$$

Then,

$$\mathbf{t}(s) = \left(-\frac{1}{2}\sin s, \frac{1}{2}\cos s, \frac{1}{2}, \frac{1}{\sqrt{2}}\right), \\
 \mathbf{n}(s) = \left(-\cos s, -\sin s, 0, 0\right), \\
 \mathbf{b}_{2}(s) = \left(0, 0, \frac{\sqrt{6}}{3}, -\frac{\sqrt{3}}{3}\right) \\
 \mathbf{b}_{1}(s) = \left(-\frac{\sqrt{3}}{2}\sin s, \frac{\sqrt{3}}{2}\cos s, -\frac{\sqrt{3}}{6}, -\frac{\sqrt{6}}{6}\right).
 \right\}$$

Thus, the hypersurface family with a common geodesic curve  $\alpha(s)$  can be expressed as

$$M: \mathbf{P}(s, t, r) = \begin{pmatrix} \frac{1}{2}\cos s - \frac{1}{2}u(s, t, r)\sin s - \frac{\sqrt{3}}{2}v(s, t, r)\sin s\\ \frac{1}{2}\sin s + \frac{1}{2}u(s, t, r)\cos s + \frac{\sqrt{3}}{2}v(s, t, r)\cos s\\ \frac{1}{2}s + \frac{1}{2}u(s, t, r) - \frac{\sqrt{3}}{6}v(s, t, r) + \frac{\sqrt{6}}{3}w(s, t, r)\\ \frac{1}{\sqrt{2}}s + \frac{1}{\sqrt{2}}u(s, t, r) - \frac{1}{\sqrt{6}}v(s, t, r) - \frac{1}{\sqrt{3}}w(s, t, r) \end{pmatrix},$$
(3.13)

where  $0 \le s \le 2\pi$ ,  $0 \le t_0 \le T$ , and  $0 \le r \le H$ . A thorough treatment on  $\mathbf{P}(s, t, r)$  will be given in the following:

### Marching-scale functions of Type (a).

Taking l(s) = m(s) = n(s) = 1, and

$$U(t,r) = (t - t_0)(r - r_0), V(t,r) = t - t_0, W(t,r) = r - r_0, \text{ with } 0 \le r, t \le 1.$$

Then, we obtain

$$u(s, t, r) = (t - t_0)(r - r_0), v(s, t) = t - t_0, w(s, t) = r - r_0,$$

where  $0 \le r, t \le 1$ , and with  $0 \le s \le 2\pi$ . Thereby, Eq. (3.13) become:

$$M: \mathbf{P}(s, t, r) = \begin{pmatrix} \frac{1}{2}\cos s - \frac{1}{2}(t-t_0)(r-r_0)\sin s - \frac{\sqrt{3}}{2}(t-t_0)\sin s \\ \frac{1}{2}\sin s + \frac{1}{2}(t-t_0)(r-r_0)\cos s + \frac{\sqrt{3}}{2}(t-t_0)\cos s \\ \frac{1}{2}s + \frac{1}{2}(t-t_0)(r-r_0) - \frac{\sqrt{3}}{6}(t-t_0) + \frac{\sqrt{6}}{3}(r-r_0) \\ \frac{1}{\sqrt{2}}s + \frac{1}{\sqrt{2}}(t-t_0)(r-r_0) - \frac{1}{\sqrt{6}}(t-t_0) - \frac{1}{\sqrt{3}}(r-r_0) \end{pmatrix},$$

where  $0 \le r$ ,  $t \le 1$ ,  $0 \le t_0$ ,  $r_0 \le 1$ , and  $0 \le s \le 2\pi$ . The position of the curve  $\alpha(s)$  can be set on the hypersurface by changing the parameters  $t_0$  and  $r_0$ . Setting  $t_0 = 1$  and  $r_0 = 0$ . Then, the hypersurface  $\mathbf{P}(s, t, r)$  becomes

$$M: \mathbf{P}(s, t, r) = \begin{pmatrix} \frac{1}{2}\cos s - \frac{1}{2}r(t-1)\sin s - \frac{\sqrt{3}}{2}(t-1)\sin s \\ \frac{1}{2}\sin s + \frac{1}{2}r(t-1)\cos s + \frac{\sqrt{3}}{2}(t-1)\cos s \\ \frac{1}{2}s + \frac{1}{2}r(t-1) - \frac{\sqrt{3}}{6}(t-1) + \frac{\sqrt{6}}{3}r \\ \frac{1}{\sqrt{2}}s + \frac{1}{\sqrt{2}}r(t-1) - \frac{1}{\sqrt{6}}(t-1) - \frac{1}{\sqrt{3}}r \end{pmatrix}$$

Depending on the 3D rendering methods, if we (parallel) project the hypersurface  $\mathbf{P}(s, t, r)$  into the  $x_4 = 0$  subspace and fixing  $r = \frac{1}{2}$  the hypersurface is

$$M: \mathbf{P}_{x_4}(s, t, \frac{1}{2}) = \begin{pmatrix} \frac{1}{2}\cos s - \frac{1}{2}(t-1)\left(\frac{1}{2} + \sqrt{3}\right)\sin s\\ \frac{1}{2}\sin s + \frac{1}{2}(t-1)\left(\frac{1}{2} + \sqrt{3}\right)\cos s\\ \frac{1}{2}s + \frac{1}{2}(t-1)\left(\frac{1}{2} + \frac{1}{\sqrt{3}}\right) + \frac{1}{\sqrt{6}} \end{pmatrix}$$

where  $0 \le t \le 1$ , and  $0 \le s \le 2\pi$ , in 3-space drawn in Figure 1-Type (a).



Figure 1. Projection of a member of the hypersurface family and its geodesic.

Let

$$m(s,t) = s+t+1, n(s,t) = (s+1)(t-t_0),$$
  

$$U(r) = 0, V(r) = r - r_0, W(r) = 1.$$

Then,

$$u(s, t, r) = 0, v(s, t) = (s + t + 1)(r - r_0), w(s, t) = (s + 1)(t - t_0).$$

Thus, the Eq. (3.13) become:

$$M: \mathbf{P}(s, t, r) = \begin{pmatrix} \frac{1}{2}\cos s - \frac{\sqrt{3}}{2}(s+t+1)(r-r_0)\sin s \\ \frac{1}{2}\sin s + \frac{\sqrt{3}}{2}(s+t+1)(r-r_0)\cos s \\ \frac{1}{2}s + -\frac{\sqrt{3}}{6}(s+t+1)(r-r_0) + \frac{\sqrt{6}}{3}(s+1)(t-t_0) \\ \frac{1}{\sqrt{2}}s - \frac{1}{\sqrt{6}}(s+t+1)(r-r_0) - \frac{1}{\sqrt{3}}(s+1)(t-t_0) \end{pmatrix}.$$

Similarly, we may choose  $t_0 = 1/2$  and  $r_0 = 0$ , so that

$$M: \mathbf{P}(s, t, r) = \begin{pmatrix} \frac{1}{2}\cos s - \frac{\sqrt{3}}{2}r(s+t+1)\sin s \\ \frac{1}{2}\sin s + \frac{\sqrt{3}}{2}r(s+t+1)\cos s \\ \frac{1}{2}s + -\frac{\sqrt{3}}{6}r(s+t+1) + \frac{\sqrt{6}}{3}(s+1)(t-\frac{1}{2}) \\ \frac{1}{\sqrt{2}}s - \frac{1}{\sqrt{6}}r(s+t+1) - \frac{1}{\sqrt{3}}(s+1)(t-\frac{1}{2}) \end{pmatrix}$$

Hence, if we (parallel) project the hypersurface  $\mathbf{P}(s, t, r)$  into the  $x_3 = 0$  subspace, and taking  $t = \frac{1}{2}$  we get

$$M: \mathbf{P}_{x_3}(s, \frac{1}{2}, r) = \left(\frac{1}{2}\cos s, \frac{1}{2}\sin s, \frac{1}{\sqrt{2}}s - \frac{1}{\sqrt{3}}r(s+1)\right)$$

where  $0 \le r \le 1$ , and  $0 \le s \le 2\pi$ , in 3-space drawn in Figure 2-Type (b).



Figure 2. Projection of a member of the hypersurface family and its geodesic.

$$m(s, r) = (r - r_0) \sin s, \ n(s, r) = sr^2,$$
  

$$U(t) = 0, \ V(t) = 1, \ W(r) = t - t_0.$$

Then, we obtain

$$u(s, t, r) = 0, v(s, t, r) = (r - r_0) \sin s, w(s, r) = sr^2 (t - t_0).$$

The Eq. (3.13) become:

$$M: \mathbf{P}(s, t, r) = \begin{pmatrix} \frac{1}{2}\cos s - \frac{\sqrt{3}}{2}(r - r_0)\sin s\sin s \\ \frac{1}{2}\sin s + \frac{\sqrt{3}}{2}(r - r_0)\sin s\cos s \\ \frac{1}{2}s - \frac{\sqrt{3}}{2}(r - r_0)\sin s + \frac{\sqrt{6}}{3}(r - r_0) \\ \frac{1}{\sqrt{2}}s - \frac{1}{\sqrt{6}}(r - r_0)\sin s - \frac{1}{\sqrt{3}}sr^2(t - t_0) \end{pmatrix}$$

Similarly, we can choose  $t_0 = 1$  and  $r_0 = 1$ , so that

$$M: \mathbf{P}(s, t, r) = \begin{pmatrix} \frac{1}{2}\cos s - \frac{\sqrt{3}}{2}(r-1)\sin s\sin s \\ \frac{1}{2}\sin s + \frac{\sqrt{3}}{2}(r-1)\sin s\cos s \\ \frac{1}{2}s - \frac{\sqrt{3}}{2}(r-1)\sin s + \frac{\sqrt{6}}{3}(r-1) \\ \frac{1}{\sqrt{2}}s - \frac{1}{\sqrt{6}}(r-1)\sin s - \frac{1}{\sqrt{3}}sr^{2}(t-1) \end{pmatrix}$$

Similarly, if we (parallel) project the hypersurface  $\mathbf{P}(s, t, r)$  into the  $x_1 = 0$  subspace, and setting r = 1 we get

$$M: \mathbf{P}_{x_1}(s, t, 1) = \left(\frac{1}{2}\sin s, \frac{1}{2}s, \frac{1}{\sqrt{2}}s + \frac{s}{\sqrt{6}}(t-1)\right),$$

where  $0 \le t \le 1$ , and  $0 \le s \le 2\pi$ , in 3-space drawn in Figure 3-Type (c).



Figure 3. Projection of a member of the hypersurface family and its geodesic.

#### 4. Conclusion

In this study, we have considered a mathematical framework, for constructing a surface family whose members all share a given geodesic curve as an isoparametric curve in  $\mathbb{E}^4$ . Given a regular spatial curve, we answer question about the necessary and sufficient condition for the given curve to be a geodesic. Lastly, as an application of our approach one example for each type of marching-scale functions is given. Hopefully these results will lead to a wider usage of surfaces in geometric modeling, garment-manufacture industry, and the manufacturing of products.

**Conflicts of Interest:** The author declares that there are no conflicts of interest regarding the publication of this paper.

#### References

- R.A. Abdel-Baky, N. Alluhaibi, Surfaces Family With a Common Geodesic Curve in Euclidean 3-Space E<sup>3</sup>, Int. J. Math. Anal. 13 (2019), 433–447. https://doi.org/10.12988/ijma.2019.9846.
- R.A. Al-Ghefari, R.A. Abdel-Baky, An Approach for Designing a Developable Surface With a Common Geodesic Curve, Int. J. Contemp. Math. Sci. 8 (2013), 875–891. https://doi.org/10.12988/ijcms.2013.39101.
- M. Altin, A. Kazan, H.B. Karadag, Hypersurface Families With Smarandache Curves in Galilean 4-Space, Commun.
   Fac. Sci. Univ. Ankara Ser. A1. Math. Stat. 70 (2021), 744–761. https://doi.org/10.31801/cfsuasmas.794779.
- [4] G.S. Atalay, F. Guler, E. Bayram, E. Kasap, An Approach for Designing a Surface Pencil Through a Given Geodesic Curve, (2015). http://arxiv.org/abs/1406.0618.
- [5] E. Bayram, E. Kasap, Parametric Representation of a Hypersurface Family With a Common Spatial Geodesic, (2014). http://arxiv.org/abs/1305.0411.
- [6] E. Bayram, E. Kasap, Hypersurface Family with a Common Isoasymptotic Curve, Geometry. 2014 (2014), 623408.
   https://doi.org/10.1155/2014/623408.
- [7] M.P. Do Carmo, Differential Geometry of Curves and Surfaces, Prentice Hall, Englewood Cliffs, 1976.
- [8] G. Farin, Curves and Surfaces for Computer Aided Geometric Design, 2nd ed., Academic Press, New York, 1990.
- [9] J. Hoschek, D. Lasser, Fundamentals of Computer Aided Geometric Design, A.K. Peters, Wellesley, MA, 1993.
- [10] J. Zhou, Visualization of Four-Dimensional Space and Its Applications, Ph.D. Thesis, Purdue University, 1991.
- [11] E. Kasap, F.T. Akyildiz, Surfaces With Common Geodesic in Minkowski 3-Space, Appl. Math. Comput. 177 (2006), 260–270. https://doi.org/10.1016/j.amc.2005.11.005.
- [12] E. Kasap, Family of Surface With a Common Null Geodesic, Int. J. Phys. Sci. 4 (2009), 428-433.

- [13] R. Makki, Hypersurfaces With a Common Asymptotic Curve in the 4D Galilean Space G<sub>4</sub>, Asian-Eur. J. Math. 15 (2022), 2250199. https://doi.org/10.1142/s1793557122501996.
- G.J. Wang, K. Tang, C.L. Tai, Parametric Representation of a Surface Pencil With a Common Spatial Geodesic, Computer-Aided Design. 36 (2004), 447–459. https://doi.org/10.1016/s0010-4485(03)00117-9.
- [15] D.W. Yoon, Z.K. Yuzbas, An Approach for Curve in the 4D Galilean Space G<sub>4</sub>, J. Korean Soc. Math. Educ. Ser.
   B: Pure Appl. Math. 25 (2018), 229-241.
- [16] Z.K. Yuzbas, M. Bektas, On the Construction of a Surface Family With Common Geodesic in Galilean Space G<sub>3</sub>.
   Open Phys. 14 (2016), 360-363. https://doi.org/10.1515/phys-2016-0041.
- [17] Z.K. Yuzbas, D.W. Yoon, On Constructions of Surfaces Using a Geodesic in Lie Group, J. Geom. 110 (2019), 29. https://doi.org/10.1007/s00022-019-0487-x.